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A 52RD61
SECTION - A -
Analytical Ability
FANE Fogss
Questions : 75 Marks : 75
PEew  :75 ardp e : 75
(i) Déta Sufficiency ‘ (Marks : 20)
&grod Durghd (R&) <0 : 20)

Note : In questions numbered 1 to 20, a question is followed by data in the form of two
statements labelled as I and II. You must decide whether the data given in the
statements are sufficient to answer the questions. Using the data make an
appropriate choice from (1) to (4) as per the following guidelines :

(a)
(b)
(c)

(d)

Mark choice (1) if the statement | alone is sufficient to answer the question. -
Mark choice (2) if the statement II alone is sufficient to answer the question.

Mark choice (3) if both the statements [ and 11 are sufficient to answer the
question but neither statement alone is sufficient.

Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data is required.

QS ¢ 100G 20 DEH 2V (D8 DH S 2.8 [DF), @ 3od L 1T e thhes Ke
Godd [Wadare Sero%or angeTow. AWYO S&°07) &OGNOD, CIARES
[PSTre [RHH Vrerard) a8)odd Vo ePsd Bor o S
Dg'*aoa‘é'). &3 (‘Og‘éwé (508 wrdidyHE reren Ao (1) woé (4)
DEH VO Hadd 2D JodE BaHos.

(a)

(b)

(c)

(d)

| RS Dirgrho 2F)0d® [HHSHo 1 @D DTGVDE o maeD

(1) (ﬁgoéoc‘i.

(%S Dororho adyod® [PHSoe 11 hrgD émgéﬁo»é QD 2BI"eD
(2) o Ibgoéo&.

[BHH Trervo ad)od® [@DHScres 1, 1T Sed Dorghay ©otHS®
o) 288 & Hogho STEJE b 2amed (3) M HBoN0d.

(25D VreRo aB)odd DhHSTw I 1T $od e dorgho s°¥
@YY Se°0F0 RV E D 2ared (4) i HBoB0s.
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1.

Is m a divisor of n ?
n & m eradnr ?
[.  m is the smallest prime such that 9 m > 8.
m @30 9 m > § ©adgt0GE EIY (DR Vowg.
II. nisanodd integer.
n 2. B Yroro¥o.
02

Do P, Q and R lie on a circle ?
P, Q. R w 2.8 D)o sodrabe ?

L. P. Q lie on the circle and PQ passes through its centre.
P. Q e 2% H)FoR sodwe, PQ @ So|o hHoae V¢hod.

[I. APQR isright-angled.
A PQR woz8abo.

If p (x) is a polynomial, is x + 3 a factor of p (x> +2) ?

P (x) 28 2570080 wawd p (2 +2) 8 x+3 28 se¥erosdr ?
L. pE3)=0

L p(l1)=0

If x is an integer, is 9* +9*=b ?
x Jrgro¥Rd 9 + 9 =b ey&oa ?

L. ISR = \/b =2

I. x>0

In AABC, if D is the foot of the perpendicular drawn from B onto AC, then what is the
area of AABC ? -
AABC &° B 0D AC 8 ADd vow rdo D eand, ey AABC 377030 208 ?

I BD-AC=20
Il. ZBAD=45°

What is the value of k with 56 <k < 66 ?
56 <k < 66 0abgty k Deod 28 ?
L k leaves remainder 1 when divided by 2.

kQ 2 & griosm H3) 3o 1.

II. k+1isdivisible by 8.
k+ 1 82zAmod.
3 P.T.O.




| 1

10.

11.

12.

Isn a prime ?
n 28 (DR Vogrg ?
. n leaves remainder | when divided by 6.

n 6 & ey vy Fao 1.

[I.  nleaves remainder 7 when divided by 91.

n 91 & AR DIy Fo 7.

Can we construct the AABC with sides a, b gnd ¢ ?
gheren a, b, ¢ één)tb AABC Q Dﬁgoisﬁofm‘ ?
L. a=3.b=4
[I.  The perimeter of AABC is 18.
AABC iﬁ)ég) e 18.

What is the average of the numbers a. a,......a;; ?
Ay, 8,y 8 & VOTW0 O ?

I a t+a,+...+a;=810

L az+a3+....+am=900

a2+d2‘)
bZ_-,Cl e

REDD oS ?

[fa#band c =d. what is the value of

a2+d2

a¢b.c¢d@o»e‘:be+—C5

I
II. ad=be

Can we find the orthocentre of AABC ?
AABC 8 wo2 So|fo ¥frarese ?

. AB2=AC2-BC?
[I. AB+BC+CA =100 cms/0.5D.

If p(x) is a polynomial, is 2 a root of p(x) =0 ?

plx) 28 2037008 eond p(x) =08 2 2% Srudr ?

I. p(l)=2
L. ppl)=0

5 9 9
A y X5 EVE—2
What is the valueof —————?

Xy

2+y2—z2

— Y Jedn Jod ?
Xy

L. xry=i 22

. y:z=2:3

52RD61
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14. What is the volume of the cylinder ?
‘é)._}“é)‘ég) WRORR0 o ?
I.  The height of the cylinder is 3 units more than its radius.
‘é::"é)‘ég) I o°Q aegrgo £08 3 ardt JE .
II. Two identical spheres of radius 3 units fit into the cylinder.
3 afedd agrdo v God VIO Neren & ‘é)ré)o@’s.a){)aéom Faweheran.

15. For real numbers a and b, what is the value of 7a + 4b ?
T Vowges a, b & 7a + 4b Jesd o ?

It ab=0
1. a’+b%=0

16. What is the value of sin 26 ?
sin 26 Qeon o ?

. sec 6+ cosec B =4
I[I. tan®+cotH=4

17. For non-zero integers a, b, ¢, d and p, is the product (ap) x (bp)* x (¢p)? x (dp)* a positive
integer ?
W s Wrgrostena, b, . d. p 5 w230 (ap) X (bp)” x (cp)’ x (dp)* SOLPg=0E™e 7
L. a<ec<p<0
. b<d<p<0

18. For positive integers x and y with xy = 30. what is the value of x + y?
GoYrgrosTes X,y w xy = 30 &GDE08, ep x +y VoD o ?
.
I |E=?
y
II. x>y
19. T[s the matrix A singular ?
| B8 A eJrgrdaer ?

I. A is a2 x 2 matrix.

A 2.8 2 x 2 o388,
II. The sum of the elements of the matrix A is zero.
Sr|8% A &0 Sreste IwEo LT,
20. What is the number of zeros at the end of the number nn ?
Vog n D50 God DI VOWE 28 7
16, 23 divides n.
n S 2% 2rAod.
II. 53 divides n but 5 does not divide n.
n Q5% erAyod 520 n J 57 2P A0S,

P.T.O.

n
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(ii) Problem Solving (Marks : §5)
26263‘3‘5 i)Y (308 e : 55)
(a) Sequence and Series (Marks : 25)
SREEre, Rrves (Bt e : 25)
Note : In each of the questions numbered 21 to 30, a sequence of numbers or letters that
follow a definite pattern is given. Each question has a blank space. This has to be
filled by the correct answer from the four given options to complete the sequence
without breaking the pattern.
WSS [RF)en 21208 30 DS du (D3 [HHSe 3D Vopges M vForw M 2.8
[EagDo Jahird) oo (8 BHEW 178 adyd e pd)sv
WOG VO BOWR =T ) E'R BR|ED oS Yoo ¥eoriHoar Froowd.
23, CL X :U
(1) B (2) D (3) F 4 H
22. TSR:IHG::WVU:
(1) FED (2) FDE (3) DEF (4) EFD
23. 1973 : February 28 : : 2016 :
1973 : (2000 28 : : 2016 :
(1) January 31 (2) February29 (3) April30 (4) December 31
23090 31 D[RHB 29 RS 30 G086 31
24. 9 +24/14,1/7 +/58.4/5 + 24/15.[3 +1/62,
(1 3 2) 10 3) \1+4f61 @ s
25. 16GH6ITS, 25EF52VU, 36CD63XW, -
(1) 49AB94ZY (2) 49BA9%4YZ (3) 49AB9%4YZ (4) 49BA94ZY
26. 336, 210, 120. 60,
(1) 54 (2) 44 3) 34 4) 24
27. B,A,D,E,F,LLH, 151
(D) (2) E 3) A 4 1
28. 14,22, 32, 44, 58, ,92
(1 72 2) 74 3) 76 (4) 78
29.- 1C5, 7111, ,19U 23
(1) 13L15 @) 15Q17 (3) 13017 (4) 13815
23 3 AL
W T eI
8 9 7
(D) & @ 5 () 33 @ 35
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Note : In questions numbered 31 to 35 pick the odd thing out :
H5R% : 31 D0d 35 HBY Ko PFHod® VOB HYow :

31. (1) 53 (2) 7 (3) 89 (4) 111
32. (1) Chennai (2) Chandigarh (3) Pune (4) Patna
3, $0&806 e | ey
33. (1) (3.7.30) ~ (2) (4.8,24) 3) (5,9,28) (4) (12,6,36)
34. (1) 42+4x+8 (2) 42+4x+1 (3) P+l (4) ¥ +4xr+4
35. (1) IN4 (2) 189 Gy 2U1 -4 2X5
Note : Each of the questions from 36 to 45 follow a definite pattern. Observe the same and

fill in the blanks with suitable answers.
HORE: 36 2od 45 DEH Ko (D 28 PRSI Jabary FEDTYOW. & AP

%00 LoahH Direrare s e U Yrdotod.

36. 1,3,6,10, 15, ,28
1) 16 2) 19 3) 21 4) 27
1 37. 2,10,26,82, . 730 ,
(1) 102 @ 132 3) 182 4) 242
38. BFJ, EIM, HLP, KPS,
‘(1) NVR (2) NRV (3) VRN (4) RVN
1 6
39. 1113 125,142 200
6 6 2 2
(1) 1565 2) 1675 (3) 1463 (4) 1663
40. 27,48, . 108, 147, 192
(1) 63 @ 72 3) 75 4) 78

41. (3.4,5),(6,6,6),(10,9,8), (15,13, 11), (21, 18, 15).
(1) (27,23,19) (2) (27,24.20) (3) (28,23.19) (4) (28.24,20)

42, 00011,00110,01001, 01100, 01111,

(1) 10110 (2) 10010 (3) 01111 ) 11111
43. 3,6,11,20, .70 :

(1) 28 2) 32 (3) 37 . @ 57

9 28 126 344
SENe 6 3 ——

730 513 1001 1332

(1) 1 (2) ) (3) BT (4) B
45. 5. 15.30, 50, . 105 :

(1 75 (2) 80 (3) 85 (4) 90

B : P.T.0.
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(b) Data Analysis (Marks : 10)
&zPod Jahe : (S0 : 10)

Note : The following table gives the profits (in lakhs of rupees) on four items A. B, C and D

manufactured by a company during the financial years 2010-11 to 2014-15. Using the
table answer the question with numbers 46 to 50.

B20% : 28 B0 Sahrdh T Freoth ByYes A B, C, D o3 &08 Jodéyores 2010-11

WO 2014-15 HIH DAY wrpren (Ufy ErarabS’) 8ol adyd VYES®
oSO TD. & X)égé‘c’m SRVAPAOD [DH)ew 46 Do) 50 DS Ko DHOD evew
@‘é’so&.

Financial Year
e§§ ‘éo‘éégdo
2010—-11| 2011 —-12] 2012-13| 2013-14| 2014 -15

Items

DRI
A 375 400 450 425 450
B 525 500 550 575 550
E 225 275 325 350 375
D 475 525 475 550 625

- 46.

47.

48.

49,

50.

On which item the profits are increasing year by year ?
Dohd)Bo Eo7ed VoHEYP0 & SHY ryres DSHEr sao ?
() A (2) B (3) C (4 D

Taking the total profit during the financial year 2012-13 of the company what percentage

of profit is earned on the item A ?
2012-13 eaé (ooéébéoo Eowd HAO Mo rod® DY A D DAL oo

Joes Fa‘é‘ém 2
(1) 20% (2) 25% (3) 30% 4) 35%
What is the percentage mu.rcasc of profit on item B during 2012-13 over the previous year ?
o) B P 2012-13 &° HDY® orefo @oéé Wodd VoREYS wrefo SoB WHbSY
a‘é&oé ?
(1) 30% (2) 25% (3) 15% 4) 10%
Which item has given maximum profit in all the years put together ?
o) NosEyore orerd” wdsdE grare ©oB0DR DI 28 ?
(1 A (2) B (3) C (40 D
Which item has the reduced profit compared to previous year twice during the five years ?
& 0D ‘boééaovcj‘ o SWY 2 erfo Todrd) wodd (880 Voaeyd orzfo Sam)
SEn D 608 ?
1) A (2) B (3) C (4) D

8




52RD61 | X

Note : The families in a colony are categorized into six groups A, B. C, D, E and F based on

51.
52.

53.

54.

55.

the income of the family. Their distribution is as given in the Pie chart below. Use this
to answer Q. Nos. 51 to 55.

K40 . 2.% s20dSED Hevoere sorabo sedom A, B, C. D, E. F o3 e Jawdteorm

Frdh u Htvowre PEe 8ol AMWED W THS FoHNOTD. &)
&HarA0D 51 D0& 55 HBH o [DH oD 2oenda).

What is the pércentage of E category families in the colony ?
scedSt E 2000 Hivoere 80 Jod ?

(1) 36% (2) 25% (3) 20% 4 15%

If there are 108 families in category B, then what is the number of families in category F ?
B S0 $Hevowre Dowg 108 wavd F S6N0 Hivowre Jomg dod ?

(1) 18 (2) 36 (3) 34 @) 72

If the total number of families in the colony is 720, what is the number of families in
category A ?
50 dS* Mo 720 Hevoerewod woHSt A 2600 Hévoare Vowg HB ?

(1) 120 (2) 108 (3) 96 4) 72

If d and e respectively denote the number of families in the categories D and E; and if
d=ke, thenk =
d. e e» HEHT 68Ades D, E & &° Hevoere vopges wdr: d =ke s VP

k:
10

| 9
(1) o ( 10

10

~1|ce

2 7 :
@ )

19
S

If the category F has 10 families, then the total number of families in the colony is
F 20A0SE 10 Hénoeres 608 8 SPu’ o Hinoere Vowg

(1) 360 (2) 240 (3) 200 (4) 80
9 P.T.0.

r

e




(c)

56.

57.

58.

59.

60.

52RD61
Coding and Decoding Problems . (Marks : 10)
§Goh, G8&oh Jdudgew (B <0 2 10)

Note : In a code the n letter in the English alphabet is coded as the ™" letter of it, where r is

the remainder when 3n + 2 is divided by 26. For example, the 7" letter G is coded as W
since 3.7 + 2 = 23 and W is the 23" letter; the 8" letter H is coded as Z since 3.8 +2 =26
and Z is the 26" letter in the alphabet. The reverse process is used for decoding. Based on
this coding and decoding answer Q. Nos. 56 to 60.

H$5RE : 28 SES* 05 vE8EruS n D vFo) rd vgdor 5% Tvdh; a¥yd
r 30 3n+2 26 B erAodne HT) Fao. sarirded, vE8Ered®d 75 v¥o G
W e §°6 S, JochEod 3.7 +2 = 23 eHod, 23 D efbo W; werd 8D vgbo
H 8 §°6 580 Z yiod, 5280 3.8 +2 =26 ©d00, 26 D 8F50 Z enbo. &8 258
86" fdos® G5°Goh Tmedh. & §°G0oh, GE°G0R HES WHAHAOW 56 WO& 60 DEH
o (%o earendRos.

th

The code word for TELANGANA is
TELANGANA & §°& %0

(1) JQLREWERE (2) JQLEWRERE
(3) JOQLEWERER (4) JQLERWERE

The code word for NAVYSHIP is
NAVYSHIP & §°6 o

(1) REPYGZCX (2) REPYZGCX
(3) REYPZGXC (4) RPEYZGCX

The number of letters in the alphabet that are coded to themselves is

uE8ired® ) e¥orud §'6 vito od eYHod ?

() 0 @ 1
G) 2 4) 3

The word coded as XQRKCL is
XQRKCL r~ §°6 Sodaxd@ biso

(1) SANTRO ; (2) HOCKEY
(3) LAYOUT (4) PENCIL

The word coded as OUMGQ is
OUMGQ > §°& Jodadd Hiso

(1) USAGE (2) UNCLE
(3) MONEY (4) MOUSE

10
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61.

62.

63.

65.

If GATE is coded as 10042308, then the LURE is coded as
GATE &3 hard) 10042308 e §'6 33 o §°65° LURE & §°G
(1) 15212108 (2) 15241805

(3) 15242108 (4) 12182105

[f GALAXY is coded as PXIXUV. then code word for STAR is

GALAXY & £& PXIXUV sond@ STAR, §°G &0

(1) PQXN (2) PQXM
(3) PQXO 4) PQOX

If TABLE is coded as SZAKD, then the code for HOUSEHOLD is
TABLE 2 SZAKD r §°& 3% HOUSEHOLD & §°G 2o

(1) GNTRDGNKC (2) GOUSEGOLC
(3) GOUSDGKNC (4) GNTSEGNKC

If COMPUTER is coded as OCPMTURE, then the code for POPULATION is
COMPUTER & &6 %$0 OCPMTURE wan@ POPULATION & §°G 20

(1) OPPUAILTON (2) OPUPALITNO
(3) OUPPLATION (4) OPPALUTION

If PLACEMENT is coded as MIXZBIBKQ, then the word coded as JLRPB is
PLACEMENT 2 £& %o MIXZBIBKQ ea»a JLRPB i~ §°6 evans Do

(1) MONEY (2) MOUSE
(3) METER (4) MOULD

11

P.T.O.

L™
\
|
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(d)

66.

67.

68.

69.

70.

52RD61

Date, Time & Arrangement Problems (Marks : 10)
88, bhuabo, wdidde Dddges . (Brthpen : 10)

If today is Sunday. what day of the week was it 124 days before ?
& B2 0 8E 124 BPare twotd 8 3808”0 S Enshod ?

(1) Monday (2) Tuesday (3) Wednesday (4) Thursday
T80 WoliFardo A tvidefo) hdardo

A clock strikes once, twice, thrice, ..., twelve times.at 1, 2. 3,..... 120’ clock and once at
every half-an-hour. The number of times it strikes between 3.05 am to 11.55 a.m. is

a¥ fdGairdo 1. 2, 3. 12 dobeypd DB 28370, Todard, én"éxa'g’) s
&310&:‘3'(@ Hobes EB&r: (8 @gﬁoméo 2.8 ffod §Hhod. & Hfaabdo &dado
3.05 Do &dabo 11.55 D8H Q&)lﬁoé.)w §%ehod ?

(1) 81 (2) 69 (3) 67 (4 63

Four cars A. B, C and D start respectively at 9.30 am, 10.30 am, 2.30 pm and 2.45 pm and
reach their respective destinations at 12.15 pm. 11.45 pm, 9.15 pm and 8.30 pm same day.
The car which travelled for short time is

srend s A. B, C, D e D8O &ado 9.30 Kobed, adabo 1030 Koded,
DErgimo 2.30 Hobed, DEgimo 245 Kobed wohesdd 8 K Fud
DI ©d & on(@ 12.15, 11.45, 9.15, 8.30 Hoved Jherw. TES° ©8 S5
(Daofrmo TS s2

(1) A (2) B @) C 4 D

A is the daughter of B: C is the brother of B, and D is the mother of C. How A is related to
D2

B 8 A %5r3: B8 C %5k, C 8D $9.D 8 Q Aforr A Do2050008 ?

(1) Maternal Uncle/@o&rd (2) Paternal Uncle/2eeron

(3) Granddaughter/oo e 4) Grandmother/esé:&@g

Reaching the venue of the meeting at 8.15, a person R found that he is half-an-hour earlier
than the person Q who came 40 minutes late. The scheduled time of the meeiing is

28 DhrSE|Dr0se8 8.15 8 TOD 28 g8 R, 40 Mwires wodgont VArSTIS SRS
Q %08 vdifod awod DV YO Hdowrd. FOSORE 6] |S=8ogi Sanado

(1) 8.05 (2) 8.10 (3) 8.5 (4) 845
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71.

72.

74.

Three doctors A. B and C have consultation schedule as follows :

(i) A —Tuesday and Thursday — 12.00 noon to 4.00 pm.

(ii) B - Monday, Thursday, Friday — 10.00 am to 2.00 pm.

(iii) C— Monday, Wednesday, Thursday — 9.00 am to 2.00 pm.

The day and the time slot at which all of A, B, C are available is

A, B, C o3 Swipdh a8 ENGBUS Berens, Vdnado 80d Ao ™) aY.

(i) A—Doie, D acoren — g0 12.00 o) Jrabo(Eo 4.00 D5

(i) B- %, Hh, BH|E sroren — adabo 10.00 o g0 2.00 DEH

(iii)s C— %D, 2w, D arorew — adado 09.00 o é)c;‘*ga’s'*lo 2.00 D85
Ss iHRie EOV §:53§msg> %0aG §°z°, Vdbo dhoren

(1) Monday. 12.00 noon to 2.00 pm/&ardo, WwergHmo 12.00 Wwo ‘o’:ncp*'si’mlq
2.00 S

(2) Monday, 10.00 am to 12.00 noon/&*ardo, &dado 10.00 Do REILIRY0
12.00 D55 '

(3) Thursday, 2.00 pm to 4.00 pm/tHhHa=8o, DE7gTno 2.00 oW SraboFo
4.00 DTS .

(4) Thursday, 12.00 noon to 2.00 pm/tbhardo, weegaeyo 12.00 o DEEI 0
2.00 5% -

Five persons A, B, C, D and E sit in a row on a bench such that D sits between B and E. If
C and D are not together, the persons sitting on either end of the bench are

SHSH BgHew A, B, C, D, E w 5830 28 2y B, E o DFgs® D ¢oGw
e . C, D e 250 (D) 258 S%Ho8 v ay adhsye Srdyd) Hees
(1) A.B (2) B.C (3) C.A (4) D.E
For real numbers x and y, if xoy = x + v — xv, then the number of distinct real values of x
for which xox = 1 holds is
TRD Doggen x, y & xoy = +y — xy oS xox = | @GOG YY) TS Vowges
X & Vowg
(1 0 (2) 1 3y 2 4 3
IfELF=(E+F)+(E—F)and

E T F=(E+F)’ - (E-F) . then

@St L3)=

ELF=(E+F)+(E-F?. ETF=(E+FP—(E-Flowa 3.5T72l3=

(1) 5616 (2) 5876 (3) 3926 (4) 5986
Tl Jul3e] = ptgq
pr=l+§+?+....ocandq=l+§+§5+....=o,then Dy
Uik eI AL ptq_
p=1+2+22+....oo,q—l+3+33+....ooe-9an3 e
7 7 21 25
() 3 2) & G) 5 4 &

P.T.O.
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SECTION-B
Mathematical Ability
Hie3s é‘éaggé
Questions : 75 Marks : 75
(%0 : 75 Srdpee: 75
(i) Arithmetical Ability (Marks : 35)
oS &&ggé (580 : 35)

76. 1f2¥=4Y=8%and xyz= 288. thenx+y+z=
2% = 4Y = 82 500 xyz = 288 wavR)d x+y+tz=

1y 72 2) 48 3) 36 @) 22
. i A R )
77. x3+y3+z3=0:>m—_—
xyz
(1 1 (2) 2 3 3 4) 0
78. a:b=2:5$a2—ab+b-’-:a2+ab+b2=
(1) 17 : 39 (2) 19: 39 (3) 31:39 (4) 18 : 39

79. There are 450 coins, in a bag, of denominations Z 1, 50 p and 25 p. The ratio of their
valuesis 2 : 3 : 4, thenthe number of 50 p coins is

&, 1, 50 Phen O 25 e 450 VB SBen 2.4 Do Lo, 58 Desde JHB
2:3: 4. eyt 50 PO B Vowg
(1) 100 2) 200 (3) 150 4) 250

80. \]ﬁ)+2\]3+2\]ﬁ)+2\]1_5=
1) B3+ @ 2+\B+EE BrEre @) 2443445

1 ] 2
8. ———— T 1= =
\J12- 2435 3215 ~10+2421
(1) 23 @) 25 @) A7 @ 0

82. The greatest integer having five digits and is divisible by 137 is
esandoen €00, 137 B grAodwd K0R Qrgrogo

(1) 99873 (2) 99862 (3) 99877 (4) 99973
83. The largest three digit qumber, which when divided by 3 and 8 leave remainders 1 and 3

respectively, is

3. 8 &3 rRODSYD HT) T L& 1,3 oadgrR) e woSu 0% Vowg

(1) 993 @2) 931 (3) 979 @) 955
14
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84.

85.

86.

90.

\ 91.

88.

89.

Traffic lights at 3 junctions A, B and C change every 15, 25 and 30 seconds respectively.
If all the lights change simultaneously at 10 a.m., when will they change together again ?

ES)les) éré%@ A, B, C o D5 (DS Béw WO (D3 15, 25, 30 EY Srdherow.
o) Béy &. 10 HobeH 28370 &rod é)@@ Koy 28370 Srderay ?

(1) 2 min 30 sec past 10 a.m. (2) 2 min 20 sec past 10 a.m.
&.10%50.2 .30 . t. 1050.2Q.20 .
(3) S5 min 10 sec past 10 a.m. - (4) 5 min 20 sec past 10 a.m.

&. 1050. 5. 10 . 6.1050.52.20.

The ged of two numbers is 23 and their sum is 184. Then the two such numbers among the
following are
Sodd Domge e 23, ¢ o 184. Y e od Bob Vowgew (808 TS

(1) 69,112 (2) 46,138 (3) 69,115 (4) 46,124
3
In the decimal representation of 33 the digit in the 25" decimal place is

23—2 Gn¥). $720% IBS® 25 % K770 ‘g‘boe‘/"&) ©0S

(1) 3 (2) 6 (3) 7 4) 4
_-ITH
-y T -
3 3 3 ' 3
M 70 @ 7 () —3 @ 70

Ifx=13 +‘\/3 + \/3 + .... , then a true .inequality arﬁong the following is
x=\3+\3+\B3+... b 8od a6 VOO RS

(1) 1l<x<2 (2) 2<x<25 (3) 2.5<x<3 (4) 3<x<4

The cost price of an article is T 800. Its marked price is ¥ 1,060. If the shopkeeper suffers
a loss of 12% on its sale, then the discount allowed on the article (approximately) is

28 WD) 5 F8 &r. 800. o [PESS o e 1,060. Sstarardd @ S
s)E0S® 12% V) P08 u HIY SR80 SR KErSHT)

| 1 |
(1) 305% (2) 322% (3) 335% 4) 35%
2 3 2

The present population of a city is 9075 thousands. If the annual increase of population is
10%, then what was the population of the city (in thousands) 2 years ago ?
28 DYoo (DS It 9075 Seo. VoREYT=AS 10% THys axmer vHhiH&HoS
2008 0w (880 & Dowo By (Bud)
(1) 7800 (2) 7500 (3) 8500 (4) 8200
If 16% of a property is worth ¥ 3.52 lac, then 50% of the property is worth (in lacs of rupees) is
28 BE° 16% 030 &». 3.52 oo Jewdd £0A GoB, v 50% el dewd (U¥
Erarade®)
1 22 (2) 18 (3) 16 (4) 11

I5 P.T.O.

I 2 £ -
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The cost price of 10 articles is equal to the sale price of 12 of the same articles. Then the
outcome of the transaction is
10 SYe ) $6 o 12 Sde w0 SE& Virdo. & oraBAS® HOS0

2 2
(1) 163 % gain/e»afo (2) 163 % loss/&go
2 2
(3) 83 % gain/orefo (4). 83 % loss/Sx0

By selling two articles each at ¥ 480, a merchant gets a profit of 20% on one and loss of
20% on the other. In the total transaction the merchant gets a
28 Gsred Tod Yo 259 &r. 480 oS wimdo by a8 @I 20%

o) Fodm D@D 20% VW) FoBD. i WE0 CTRIS DT HIL
DB

(1) 4% loss/dgo (2) no loss no gain/Sgo Eb erefo TS
3) 5% ]oss/‘é‘élo (4) 5% gain/erefo

Two persons A and B started a business investing ¥ 3.5 lacs and ¥ 6.5 lacs each
respectively. After 6 months A has withdrawn from the business while C joined by
investing ¥ 7.5 lacs. The share of A in the year-end profit of ¥ 2.4 lacs is

agd DgBes A, B 2536 & DI 8. 3.5, &r. 6.5 e Doads of TGO

[F"8080w0. 6 Sve SHhard A Tgrso Wwod ST &r. 7.5 oo wads’
C Bo%. &r. 2.4 o¥v VodEYo~08 o A oer
(1) 35,000 (2) T45.,000 (3) T55.000 . (4) T 75.000

A person A starts a business with some capital. After four months B joins with a capital
60% more than that of A. The share of A (in ) in the year-end profit of 7 6,20,000 is
Sod o L3S 28 D38 A 28 Trgror) (FE0DoTR. 4 Fuw SHhard A £9)

60% KD VWEGE wEIE’ B adlovd. Vopdyorod erdo &r. 6,20,000 o®
A e (& o

(1) 3.10,000 (2) 2.70,000 (3) 3.00.000 (4) 3.20,000

Two pipes X and Y can fill an empty tank in 18 min and 24 min respectively. Both the
pipes are opened. After some time X is closed while Y is continued till the tank is filled. If
the tank is filled in 12 minutes, then X is stopped after

G0l eo X, Y 0 2.8 570 FE1 DB 18 D, 24 J. o8° odifed. Toth Yo

B0wd. FPUDE Shard X 2 WrdED Y & dr(do & od 6% 863 4000, &
12 Q. &S® J0GES’, X D Do He SHars LraSuo ?
(1) 6 min/Q. (2) 9 min/Q, (3) 8 min/Q. (4) 10 min/Q.

Taps A and B can fill a tank in 3 hrs. and 4 hrs. respectively. Tap C can empty the fll
tank in 6 hrs. If A, B and C are opened simultaneously, then the tank will be filled in
25 G 0ot wgres A, B 3 o, 4 ffo.o&” Jowiuy. o dodir ¢ &G C o

S 6 o g Tabiferd. A, B, € e 28370 803 & othwh Dt Wubdabo
(1) 120min/. (2) M40min/d.  (3) 144 min/d. (4) 160 min/Q.
16
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98. The speed of the train (in kmph) of 180 m long which crosses a bridge of length 120 m in

15 seconds is
180 &. &Y e 2.8 Beo 120 2. P& Ko 2.8 D08 15 VEXS® i@ & Jeo Jtfo

(ov® 8., oS
(1) 36 (2) 72 (3) 45 (4) 63

99, A starts from P at 6 a.m. and reaches Q in 4 hours. B starts from Q at 8 a.m. and reaches P
at 10 a.m. At what time A and B meet ?
P 908 &. 6 Kobeud 20henmod A 4 fodd® Q W ITw. Q Woé &. 8 HobeH

20besB0S B &. 10 fobeH P & TTw. o) Hobed A, B e Seodrdh ?
(1) &.840am. (2) &.830am. (3) &.9.00am. (4) &.9.30am.

100. A can do a piece of work in 12 days and B in 16 days. After working for 4 days with A, B
leaves the work. The number of days required to finish the remaining work by A alone is
o¥ DA A 12 %S’ B 16 er S’ dabifedh. A & 4 Faren DIBJE B DIV D00

I9). A 2:%).G DAOD DA YrY Sahed Dy Fere Lowg
(1 2 2) 3 (3) 4 4 5

101. A, B and C together can complete a piece of work in 30 days. A takes twice as long as B
and C together take to complete the work while B takes twice as long as A and C together
to complete the same work. The number of days C alone needs to complete the work is
A, B, C & Zod 28 DA 30 &arg® o Jabifedd. B, C w Fod & DI

.‘ b VB Liabo £5) TPoy Vivato A Ebotrd S A, C e 8D o LA
Lro dabe® HB Dicho &%) TYowy) Vivabo B Sddoird. C 2Ka « DAV Yro
Janbk® VB Sere Jowg
(1) 90 (2) 85 3) 82 4) 78

e

L~

77 .
102. If the area of a sector in a circle is 3’cm2 and if the radius of the circle is 7 cm. then the
sectorial angle is
77
2.8 )05 Vg STego 3 0.a0.2 Do D) sgrgo 7 20.0D. BOS WD
-2 o o = [} o
&0
(1) 45° (2) 30° (3) 60° (4) 90°

103. The perimeter of a rhombus is 40 ¢cm and one of its diagonals is 16 cm. Then the area

(in cm?) of the rhombus is
2.8 V&S EY HWSUE 40 0.0 DO @ EgrUS’ 288 16 V0., BYD

o VhSdine FTogo (Ro.2 o)
(1) 48 (2) 192 (3) 96 (4) o4
‘,i 17 P.T.O.
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108.
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A hollow road-roller 63 cm wide with circumference of 440 cm is made up of iron, If its

thickness is 4 cm, then the volume (in cm?) of the metal used is _
63 V0.ab. Bebeoy EOA, LB 440 0.8y, 2.& &y 8% FPodh atns SabrgR8. @

OG0 4 0.00. BT T8 SVEPAODD FED WEHOETEH0 (Mo} o¥)
(1) 97712 (2) 107712 ~  (3) 107714 (4) 106612
The dimensions of a rectangular solid S are 4 x 9 x k. If the volume of S is the same as the

volume of a cube of side 6, then the value of k is
2.8 &Y Lwdo S ¥y S'oden 4 x 9 x k. ghezo 6 e Jo 2.8 wdo AE) VDO IS

S VOO0 VETHDE, k Dewd

(1) 6 2) 12 (3) 18 (4) 36 ‘

A door is in the shape of rectangle surmounted by a semicircle on its breadth. If the
rectangle dimensions are 10 ft x 7 fi., then the area of the cross-section of the door

(in sq. ft.) is
28 orgfo ab¥) ws¥o af AYSHERo IEenyD ef)go FPoVIWHB.

BEBHIo Fuden 10 wbhiben x 7 wbhibes wond o @gdo ‘énspﬁaé S7ugo
(3. ». oS

(1) 89 (2) 87% (3) 89% 4 87

A solid cylinder of height 6 cm and base radius 2 cm is melted and cast into a cone of the
same base radius as that of the cylinder. Then the height of the cone (in cm) is
6 oD, A, 2 o sragrdo Ho af DO rard) $6A0D Wrdo

ajra"gé"go‘ééa VPR ghrargrdo o SoHYm FEIRN0. wPh & o oeh
(0.2, o&f)

(1) 9 ) 18 (3) 21 (4) 24

A cylinder is of height h and base radius r. If t denotes the total surface area and v its
volume, then ZLV =

@8 W0 I h, girargrdo 1. t @ DoPrdSe STEE), V DIVODPER) DY

Ll

2 2 33 1,1
(L) TR @) T+3 () 335 (4)

The binary equivalent of the decimal number 245 is
&7°0% R0 Vowg 245 VARG Bgomrg WER0S R Wogg
(1) 1110101 (2) 11110101 (3) 11101011 (4) 11110110

The remainder when 1727! is divided by 29 is
17271 % 29 J 2eAoSme Dby Fo

(1) 11 (2) 10 (3) 12 4) 13

L

| —
o | —

18
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- 115.

116.

117.
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111.

112.

113.

114.

Algebraic and Geometrical Ability (Marks : 30)
Ddah, argudab THYsd (578 e0 : 30)

If p. q are statements, then (~ p) Vv (~ q) is equivalent to
p. q e G0 [é)‘éﬁa“g@, (~p)V (~ Q) B HegIHB

(1) p=>~q (2) ~p=>¢ (3) ~p=>-q 4) p=>gq

If p, q are any two statements. then ~(p V (~p A q)) is equivalent to
p. q & B0 [(PHSTBE, ~(p v (=p A q)) B HegIRO

(1) ~(paq) (2) ~pvg (3) (=p)a(~q) 4 p—q

If A is the set of all primes not exceeding 20 and B is the set of odd positive integers not
exceeding 20, then (A-B) U (B-A)=
20 ordd) [PErarosty W@ A, 20 @O &R dudopge VS B Oad,

(A-B)uU (B-A)=
(1) {1,9,15,19} (2) {2.9,15}  (3) {1.2.9,15} 4) 19,15

-~

1+ 3x+ a5
IF () = log T and g) = 5.3 then f (&) =

‘r_"’_i s ot nv

Ii:=30=
1+x P
flx) = log T . 8(0) = T 5,7 @@ f () =
1) fw @) e (3) 3e@) (4) 3

If a set A has 4 elements, another set B has 7 elements. then the number of injective
mappings from A into B is

2.4 OB A & 4 hroste, 6 DD B & 7 &rustesod, A ©0od B 8 o oe¥
(Pafre Dowg

(1) 920 (2) 840 (3) 120 (4) 720

The equation of the line passing through (- 4. 3) and is perpendicular to the line segment
joining the points (1,—3) and (=3, 1) is

DodD) (— 4. 3) thoae FEX, (1,-3): (-5, 1) & O T 9oEeA8 woworr $9)0G O
HEESeo

(1) 3x-2y+18=0 (2) 3x+2y+18=0
3) 2x—3y+14=0 (4) 2x+3y+8=0

The equation of a line passing through the point (-2, 3) and making intercepts in the ratio
of 2 : 3 on the x and y axes is
DB (2. 3) Hoa FFEr x. y vxrup 2 1 3 IS vodSyorrew ST

D880

(1) 3x—2y+

1 (2) 3x+2y—12=0
B) 2x+3y+1

0
0 4) 2x—3y—12=0

19 P.T.O.
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N5l S o DT Wy o T
sin?  + sin? Tn + sin® 5=+ sin? o=
(1) 0 2): 1 B) 2 () Jomd
tan 40° + tan 20°
cot 45° — cot 50° cot 70°
| |
2) 3 — -
(1) 3 2) 3 6 5 @ 3
tan A+sinA=pitanA-sinA=q=p’—g=
(1) 2(tan’A + sin?A) (2) 2(tan’A - sin?A)
(3) 4 tan®A sin’A (4) 4tan Asin A
Observed from the top and foot of a tower 10 metres high the angles of elevation of the

top of a second tower are 30° and 60° respectively. The height of the second tower
(in metres) is
10 Z))édéa & e 2.8 Jozfo %’go, FEow Wod SrwaR)d Sodd wozgfo %’go DHO

30°, 60° &ags ST 3‘_’“33010». Coda Vozfo )b (ﬁb&écﬁ“) :

(1= TS 2) 17.5 (3) 20 (4) 225
xty=zx3+y +3xyz=

(1) 0 (2) —3xyz (3) 3x2y32? 4) =z

How much is to be added to (x +2) (x +4) (x + 6) (x + 8) to make it a perfect square ?

(W +2) (r+4) (x +6) (v + 8) B Jod SO1E b VOYPY B0 WP ?
(1) 4 2) 8 (3) 16 4) 20

f(x) is a polynomial that leaves remainders 6 and 4 respectively when divided by (x — 2)
and (x — 3). The remainder of f(x) when divided by x> — 5x + 6 will be
fix) 03 2500AD (x - 2). (v - 3) oF rACDEYD STy Fapes HHOM 6, 4. ) D

F¥-5x+63 AR éﬁa P90

(1) 2(x+3) ) 2(-x-5) (3) 2(=x+5) @) 2(:+5)
125, 1f2° — 7x* +9x3 + 722 — 10x = (x% — 1)g(x), then one of the values of a such that ga)=0is
X =Tt + 03 + T2 — 10x = (2 — () wowd g(a) =0 &ad Ao Hod 2. a Dewd
1) -5 (2) 5 (3) 4 4 —4
10 9 - 15
126. Xty x- yzz;.1'+y+.\'— y= 8§=2x +3y=
5 5 7 7
3 @ 3 (3) 3 @ -3
Xy _6 xy i, |
127. .\'+_v_5’y—.\'-6:> (x, y)=
T I 1
). GZ—=3) (2) (—5, *3] - (3) [E‘ -J 4) 2,3)
20

s S
W
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The sum of the integers between 1 and 200 which are divisible by both 3 and 7 is
[, 200 &g 3, 7 Bodo88 e ok Wrgrostey @do

(1) 945 (2) 999 (3) 1327 (4) 1594
The third and the fifth terms of a geometric progression are respectively the second and
the eighth terms of an arithmetic progression whose first term and the common difference

are both equal to 16. The first term of the geometric progression is
2.8 HeE@ & 3 B, 5% Dores HHHT &S Lo, &G Pdo Todr 16 m Ko

Go&’ ©0¥[EE 67 2%, 8% horen. o DR S Heso
(1) 8 (2) 6 (3) 4 4 2

It -, B "C_., are in Arithmetic Progression, the possible values of r are
C,_p, 1CL HC, w wodEEST Ho Feg Devdes
(1) 4.8 (2) 5.9 (3) 6.10 4 7.11

-\
If the coefficients of x7 and +® are equal in the binomial expansion of (3 +%) ,thenn=

-\N
(3 +%) B8 MBS 17, xf © Hmstes VardHand n=
(1) 42 (2) 48 (3) 55 4) 58

0 o [
LetA=[ B 0 ],a#O,B¢O.IfA-‘+A=O,thenaB=

A=[g g].a;eo.B¢O@l§>§‘o&4A3+A=O@an3. of =

1 |
(1 1 @ 3 G) —3 @ -1
sin@ -cosH
— ‘-l —

() [ cos@ sind J =l
(1) —R=8) (2) f(%ﬂ“@) (3) f(%—e) “4) f(9)

(0L + 0 (5400
e 100 + x10 g =L
ile 0 (2) 1 (3) 3 4) 5

ol (COSXtsinx)  dy
YD cosx—sinx/ — dx
(1) tan5 (2) tanx G) x 4) 1

21 P.T.O.

L =l
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If /, and /, are parallel lines, then x =
[. 1y e V&0 S8 Speand x =

L
/ |
g

P

30 (2) 45 60

(3) 4 75

(1)
In the adjacent diagram ABCD is a quadrilateral; E and F are the foot of the
perpendiculars drawn from B and D on AC. If AC = 8, EC = 3, BC = 5 and area of
ABCD = 20, then DF =

(2% D&o&® ABCD 2.8 S&HHyz0. E, F o, B, D & wod AC p DS vor drarew.

AC=8,EC=3,BC=5, ABCD 3780 = 20, @ans DF =

3) 3

4) 4

(1 1 2) 2

P, A, B are three points on a circle and PT is a tangent to the circle. If ZAPB = 45° and
ZTPB = 60°, then ZABP =
a8 DEow P, A, B w awrd HodPen. D)ol

ZAPB =45°, /TPB = 60°, wan@& LABP =

P ¢ ADD 80w PT.

A
B
455
605
P T
(1) 45° (2) 60° (3) 75° 4) 90°

The radius of the circumcircle of the triangle with vertices (0, 0); (4, 4) and (0. 8) is
Rgees (0, 0), (4, 4), (0, 8) o o (Babes 20D)E argIrgo

(1) 2 2) 242 (3) 3

The coordinates of the point on the y-axis which is equidistant from the points (7, 6) and
(-3,4)is
y-850 ab& Qodwe (7, 6), (-3, 4) © Dod DEFS Erdost ) Do) DS e

(0. 0) (2) (0,-25) (3) (0,-15) 4) (0, 15)
22

4) 4
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(iii)

141.

142.

143,

144,

145.

Statistical Ability (Marks : 10)
SoWETRY s (BrEope0 : 10)
The Arithmetic Mean of the following data is
(508 &er0m7J8 wo¥ Do
: X 1 P | 25
; L o[ e 25
(1 17 @) 21
3) 23 (4) 27
The median of the following frequency distribution is

$08 FrRmyg Jer IS g0

x| 1Se] 17 (»200] 22| 25 | 30
f 1 S 1.30 [ 1

(SR |

8 | 4
(1 17 (2) 20
3) 22 ' (4) 25

In a frequency distribution the Arithmetic mean is 50 and the median is 52. Its mode is
2.8 %s‘@}’og TR0 eoéwgm 50, gigiido 52. @ wrdroFEo

(1) 51 (2) 53

(3) 54 (4) 56

If the Standard Deviation of n observations x., x,..... x.is 17, then the Standard Deviation
Iw=2, 1

oflrl =502 15, - ., 2xs—154s

Xjy Xypeer X, 6 0 DOJUDO (E Devo 17 wavd 2, — 15, 2, 15, ... 2x ~ 15 &

(BdBeno

(1) 34 (2) 49
3) 54 (4) 59
The sum of 5 observations is 25 and the sum of their squares is 145, The standard

deviation of these observations is
5303ede Mo 25, o dgre o 145. & VOFUDe EDDSedo

() 202 @) 2
29

2 29
(3) 35 (4) 5

23 z ' P.T.O.
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The rank correlation coefficient of the following data :
1808 Ser077R8 §° Wrvow0d he¥o

x| 3]2]4]7]6]1

y [ 23 [ se]s |85

5 6
() 33 (2 31

6 -
B3) 33 @ 7o

Out of 100 consecutive positive integers two are chosen at random. The probability that
their sum is odd, is

100 HEBOS'R S ¥ Wrgroste St Godod) afrd)yEon® JwyHamo. o°8 wgo
B Vowg eadg Voaragd

1 49
1 39 @ 50
51 50
@) 5y @

Three vertices out of six vertices of a regular hexagon are chosen at random. The
probability that these vertices form an equilateral triangle is

2.8 |E0hd2S* el %’g*oé‘ Lr@ 083 oﬁré.){)géom ) BT 0. & Weth Rgren
Diverdeo Sghz FgRoDodH® Vogrngd

]
2 70

=

(1)

| ,
@) 73 (4)

19|

0

The probability of getting a total of 17 on a throw of 3 dices is
3 PDEUD FPoDNRD o 17 HTYod® Dogrngd

17

(I 376 @) Tog
] 17

(3) 73 4 73

. A bag contains 4 Green. 6 Black and 7 White balls. If one ball is drawn from the bag at

random. the probability that it is either a black or a white ball is

2.8 20DE* 4 VYD, 6 Ve, 7 By WoHLITYOD. & VoD Wod afrsyDySor ¥
208 BVEYD ©d Vud Tae BLd Badg VoTTRgS
4

(1)
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SECTION-C
Communication Ability

Questions_ : 50
PART -1
Choose the correct meaning of the word given :

151. Humongous

(1) funny (2) enormous

(3) marvellous (4) full of variety
152. Queasy

(1) nauseous (2) funny

(3) trembling (4) disorderly
153. Cogent

(1) agent : -(2) convincing

(3) active (4) co-worker

154. Paramount

(1) ahuge para (2) permanent

(3) supreme (4) mountains described in a para
155. Thwart

(l) convert (2) prevent

(3) pervert (4) thrust

156. Arduous
(1) untidy (2) excess
(3) skilled (4) difficult

Fill in the blank choosing the correct word :

157. The workers were delighted as their pay scales were revised
(1) respectively (2) retrospectivelv
(3) retrogressively (4) redundantly

158. Due to his corrupt practices, the officer was :
(1) promoted (2) demoted

(3) rewarded (4) praised

159. One who is determined to exact full vengeance for wrongs done to him is
(1) wvirulent (2) usurer
(3) vindictive (4) imposter

160. One who does not care for literature or art is .
(1) illiterate (2) primitive
(3) aphilistine (4) abarbarian

2

n

=

Marks : 50

P.T.O.
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PART -2
Choose the correct answer :

161. Which was the first commercially available computer ?
(1) ENIAC (2) EDSAC
(3) UNIVAC (4) Mark I

162. In FDM. every user uses
(1) same frequency band
(2) different frequency bands
(3) a frequency band which is assigned at random
(4) multiple frequency bands

163. Group of instructions that directs the computer is called

(1) storage (2) memory (3) logic (4) program
164. An ISP isan ,

(1) Internet Service Provider (2) Internet Service Producer

(3) Internet Selection Provider (4) Internet Service Product

165. The most powerful type of computer is called -
(1) amicro computer (2) a mini computer
(3) a mainframe computer (4) a super computer

166. The expansion for the abbreviation GDP, an important measure of economy, is
(1) Growth Development Project (2) Growth in Domestic Production
(3) Gross Domestic Product (4) Goods Demand Projection

167. The market for noble metals like Gold and Silver is called
(1) Bullion Market ' (2) Bullish Market
(3) Stock Market (4) Capital Market

168. As a result of disciplinary action, when an employee is asked not to come to work pending
enquiry, it is called
(1) termination (2) suspension
(3) leave (4) shut off

169. An organization’s involvement within the community is called
(1) outreach (2) outrider

(3) interact (4) intervene

170. The availability of liquid assets to a market or company is called

(1) ligquidate - (2) liquidity
(3) liquidize (4) liquid
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175.
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172.

173.

174.

176.

: 177.

PART -3
Choose the correct answer g

A: “He never does a stroke of work in the house.”
B: “Well, may be no one asked him.”

‘B’ implies that ‘A’ is
(1) harsh (2) unfair
(3) angry (4) irritated

Change the following into active voice :
You and he were seen by her.
(1) She saw you and him, (2) She saw both of you.

(3) She had seen you and him. (4) She saw both of them.

If T agree to your proposal, I will be backing the wrong horse.
The underlined phrase means

(1) gambling (2) unfortunate
(3) fortunate (4) prosperous

“Was this the sort of thing you wanted 2”

The tone of the speaker in the above sentence is
(1) accusing (2) rude
(3) polite (4) cheerful

The subject is held over till the next meeting,
The underlined phrase means
(1) postponed (2) dismissed (3) taken care of (4)

A : “Can you explain this theory to me 2

B: “Why ? Are you afraid of failing in the exam again 2"
[n this conversation ‘B’s’ attitude is

(1) helpful (2) scornful

(3) courteous (4) concerned

A : “Did the resolution get the approval 7

B: "It was called in question by many."
‘B’ implies that many

(I) approved the contents

(2) doubted the contents

< (3) thought it a model question paper

(4) framed the resolution along with a questionnaire
27
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185.
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Fill in the blanks with the appropriate phrase/verb/preposition :

They decided to rest the shade of the tree before resuming their walk.
(1) on (2) below

(3) underneath (4) in

They watched the impressive tableau pass

(1) away (2) by

(3) on (4) up
Something shou_ld be done unemployment.

(1) for (2) in

(3) with (4) about
Whom are you for ?

(1) waiting (2) awaiting
(3) waiting on (4) receiving
His body has there under suspicion.

(1) lain : (2) laid

(3) lied (4) lost

After heavy rains in the catchment areas, a river might
(1) elevate (2) raise

(3) rise (4) grow

several feet.

The vice chairman had to conduct the meeting as the chairman did not

(1) tumin (2) turn up

(3) turn out (4) turn off

It’s time you to some work.

(1) gotin (2) gotoff

(3) gotdown (4) getup
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186.

187.

188.

189.

190.

PART -4
Read the following passage and answer questions 186-190.

There was silence. The rush of water so constant that the sound receded into the
deep recesses of the mind and so faded from the conscious. Birds chirped in different -
octaves. The rain came in a downpour adding to the music of nature. The orchestral
composition was completed as the wind ruffled through trees.

What is remarkable in this sequence is that the sounds were not man-made. The
comforting murmurs of nature lulled the mind into deep meditation. Then I opened my
eyes. The mountain of Machchu Pichchu was behind me. Wyna Picchu was to my side,
and Puttucursi right in front shaped like Mt. Kailash. Of course there was no snow. A long
fold of mountain was like Ganesha’s trunk. The sacred river Urubamba sped along in its
long journey — embracing the mountain at the foot, following its contour, then on around
Wyna Picchu, racing to join the Amazon river — tumbling down 8000 feet, saddling South
America and then merging with the Atlantic Ocean on the East coast.

Cusco was the heart of the Inca empire. It retains its pristine charm inspite of a
stream of tourists. The tiled roof tops, narrow streets and little balconies dotting the |
buildings add to the charm. We stayed at the Monesteria Hotel. which is an original old
Spanish Monastery. The feeling of belonging to a bygone era continued even as we left
the hotel and stepped into the small square where colourfully dressed Inca woman awaited
us with a child and a Ilama to be photographed.

-
e — —

L

Which mountain specifically referred to by the author did not have snow ?
(I) Mt Kailash (2) Puttucursi (3) Machchu Pichchu(4) Wyna Picchu

Which river is described as sacred in the passage ?
(1) Amazon (2) Ganga (3) Missisipi (4) Urubamba
Which four sounds constituted Nature’s orchestra according to the passage ?

(1) Roar of Atlantic, snow fall at mountain, sound of waterfall and chanting at monastery.

(2) Wind through mountain, flight of birds, water stream and falling of leaves.

(3) River crashing at mountain foot, confluence of river into ocean, rustling of dress and
clicking of camera.

(4) The sound of water, chirping of birds, rains and the wind ruffling through trees.

What does the expression. ‘it retains its pristine charm’ mean ?
(1) It retains its entertainment value.

(2) Tt retains its beautiful charm.

(3) It retains its unspoiled old charm.

(4) It retains its modern charm.

What does the expression, ‘Birds chirped in different octave’ mean ?
(1) Birds voices pierced the silence of the valley.

(2) Birds voices could be heard at various frequencies.

(3) Birds veices sounded like cacaphony.

(4) Birds tweeted to each other aimlessly.
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193.

194.
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Read the following passage and answer questions 191-195:

My childhood was, on the whole, happy and straight forward, and I felt affection for
most of the grown-ups with whom I was brought in contact. I remember a very definite
change when I reached what in modern child psychology is called the ‘latency period’. At
this stage, | began to enjoy using slang, pretending to have no feelings, and being
generally ‘manly’. [ began to despise my people, chiefly because of their extreme horror
of slang and their absurd notion that it was dangerous to climb trees. So many things were
forbidden to me that 1 acquired the habit of deceit in which I persisted upto the age of
twenty one. It became second nature t6 me to think that whatever 1 was doing had better
be kept to myself and | have never quite overcome the impulse to concealment which was
thus generated. I still have an impulse to hide what I am reading when anybody came into
the room, and to hold my tongue generally as to where I have been, and what | have done.
It is only by a certain effort of will that I have overcome the impulse, which was generated
by the years during which I had to find my way among a set of foolish prohibitions.

The years of adolescence were to me very lonely and very unhappy. Both in the life
of the emotions and in the life of the intellect. I was obliged to preserve an impenetrable
secrecy towards my people. My interests were divided between sex, religion and
mathematics.

What did the author acquire in his adolescence ? .
(1) Good habits (2) The bad habit of drinking
(3) The habit of deceiving people (4) The bad habit of smoking

From where is the expression ‘Latency period’ borrowed ?
(1) Adult psychology

(2) Child psychology

(3) Educational psychology

(4) Abnormal psychology

How did the author acquire the ‘habit of deceit’ ?

(1) People hated him.

(2) Because he was not permitted to do many things which he wanted to do.
(3) He was lonely.

(4) No one sympathized with him.

How was the author during the period of adolescence ?
(1) Lonely but not unhappy.

(2) Lonely and unhappy.

(3) Unhappy but by no means Jonely.

(4) Very friendly and very open.

Where did the author maintain secrecy ?

(1) Inemotional but not intellectual life.

(2) Inintellectual but not emotional life.

(3) In emotional and intellectual life.

(4) Neither in intellectual nor in emotional life.
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196.

197.

198.

199.

200.
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Read the following passage and answer questions 196-200.

- When you first arrive in a new culture, there is a period of confusion that comes

from the new situation and from lack of information. It leaves you quite dependent and in

need of help in the form of information and advice. The second state begins as you start to
interact with the new culture. It is called the stage of small victories. Each new encounter
with the culture is fraught with peril. It is preceded by anxiety and information collection
and rehearsal. Then the event occurs and you return home either triumphant or defeated.
When successful, the feelings are very much as though a major victory has been won. A
heightened roller coaster effect is particularly characteristic of this stage. Once some of
the fundamentals of life are mastered, there is time to explore the new culture. This is the
honeymoon stage of wonder and infatuation. In it there is heightened appreciation for the
new, the different, the aesthetic. Depending on the degree of cultural immersion and
exploration, it may continue for a considerable period of time.

After a while, a self correction takes place. No honeymoon can last forever. Why in
the world would anyone do it that way ? Can’t these people get their act together ? Now
the deficits seem glaringly apparent. Finally, if you are lucky enough to chart a course
through these stages and not get stuck, there is a rebalance of reality. There is the capacity
to understand and enjoy the new culture without ignoring these features that are less
desirable.

When does one acquire the capacity to understand and enjoy new culture ?
(1) When one is willing to accept the new culture uncritically.

(2) When one goes through various stages of assimilation.

(3) When one is infatuated with the new culture.

(4) When one gives up old culture.

How many stages of adaptation are described before moving on to the new culture
finally ?
(1) Four (2) Three (3) Two (4) Five

When does one go through a critical questioning phase before moving on to the new
culture ?

(1) At the honeymoon stage (2) At the initial stage

(3) At the final stage (4) At the second stage

Which stage of cultural adoption is comparable to a roller coaster ride ?
(1) When you interact with the new culture,

(2) While experiencing the honeymoon stage of the new culture.

(3) While being critical of the new culture.

(4) When you first arrive in a new culture.

At which stage of one’s entry into the new culture, is one likely to feel quite dependent ?
(1) At the stage of interaction with the new culture.

(2) At the initial stage.

(3) Atno stage.

(4) At all stages.
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